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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
' 100kN/m%# 2 % 1.00[{0.00 ~ 0.91 113.68| 3mZEBZzB| - ~ = - -| 100kN/MZ#Z % 1.00( 11.21 ~ 14.00 113.68|3m%xi#B2 % -~ = = =
s 1.00/ 091 ~ 8.70 100.00f Z=h 4+ |0.00 ~ 8.70] 2.38 12.04 Lo 1.00] 500 ~ 11.21 100.00| =hList | 500 ~ 14.00| 2.38 12.04
9 100kN/mM##B %% 1.00|0.00 ~ 1.51 123.05|3m%x# %% 0.00 ~ 0.28] 3.21 16.21| 100kN/m#%#B 2% 1.00] 13.38 ~ 20.00 123.05| 3m%#BZ % - ~ 20.00f 3.21 16.21
s 1.00]1.51 ~ 9.30 100.00f Z=h st 1 0.28 ~ 9.30] 3.00 15.16 Lo 1.00] 5.00 ~ 13.38 100.00f Z#hList | 500 ~ 20.00| 3.21 16.21
3 100kN/mM##8 %% 1.00{0.00 ~ 1.74 126.67|3m%x# %% 0.00 ~ 0.20[ 3.14 15.87| 100kN/m#%#BZ.% 1.00] 12.66 ~ 20.00 126.67| 3m#%#BZ % - ~ 20.00| 3.14 15.87
s 1.00]1.74 ~ 952 100.00f Z=h st 1 0.20 ~ 9.52| 3.00 15.16 Lo 1.00] 5.00 ~ 12.66 100.00| =hList | 500 ~ 20.00| 3.14 15.87
4 100kN/mM##8 %% 1.00{0.00 ~ 222 134.58|3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.54 ~ 19.60 134.58| 3m%#BZ % =l ~ = = =
s 1.00] 2.22 ~ 10.01 100.00f Z=h 4t |0.00 ~ 10.01] 2.36 11.90 s 1.00] 5.00 ~ 10.54 100.00| =hList | 500 ~ 19.60] 2.36 11.90]
5 100kN/m##8 %% 1.00{ 0.00 ~ 2.63 141.36| 3m%x#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.81 ~ 26.40 141.36| 3m%#BZ % =l ~ = = =
s 1.00] 2.63 ~ 10.41 100.00f Z=h st 1 0.00 ~ 10.41] 2.90 14.64 s 1.00] 5.00 ~ 10.81 100.00| =hList | 500 ~ 26.40| 2.90 14.64
100kN/mM%EBZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
Zh st ~ zh st ~ LSt ~ ZhLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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